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QUESTION 1

Fred is planning on using the windows socket application ClientApp.exe program to create a client-side application that
his employees will use. This program will access backend programs from two different remote sites over WAN
connections. If Fred does not make any modifications to the ClientApp.exe default settings, what port must he have the
network engineer open in order for the application to communicate? 

A. 21 

B. 23 

C. 25 

D. 80 

Correct Answer: D 

 

QUESTION 2

What security package is implemented with the following code? 

dwStatus = DsMakSpn 

( 

"ldap", 

"MyServer.Mydomain.com", 

NULL, 

0, 

NULL, 

andpcSpnLength, 

pszSpn 

); 

rpcStatus = RpcServerRegisterAuthInfo 

( 

psz 

RPC_C_AUTHN_GSS_NEGOTIATE, 

NULL, 

NULL 
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); 

A. Diffie-Hellman encryption 

B. Repurposing 

C. SSPI 

D. SMDT 

Correct Answer: A 

 

QUESTION 3

Mathew is working on a Fedora machine and is having issues with some shellcode he wrote that is producing errors.
Mathew decides to download and use Ktrace to debug the shellcode to see where the errors are originating from. 

Why will his plan not work? 

A. Ktrace cannot debug errors, it only notifies of successful calls 

B. Ktrace only works on Windows platforms 

C. Ktrace cannot debug shellcode 

D. Ktrace only works on *BSD platforms 

Correct Answer: D 

 

 

QUESTION 4

What would be the result of the following code? 

#include  

#include  

int main(int argc, char *argv[]) 

{ 

char *input=malloc(20); 

char *output=malloc(20); 

strcpy(output, "normal output"); 

strcpy(input, argv[1]); 

printf("input at %p: %s\n", input, input); 
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printf("output at %p: %s\n", output, output); 

printf("\n\n%s\n", output); 

} 

A. Stack buffer overflow 

B. Heap overflow 

C. Query string manipulation 

D. Pointer Subterfuge 

Correct Answer: B 

 

QUESTION 5

Paul wants to capture audit information on PLSQL so he executes the following command: 

sqlplus "sys / as sysdba" 

Enter password: password123!!!! 

SQL> ALTER SYSTEM SET AUDIT_TRAIL = OS 

SCOPE=SPFILE; 

SQL> SHUTDOWN NORMAL; 

SQL> STARTUP; 

What privileges has Paul logged on with? 

A. ADMIN 

B. Root 

C. SYSDBA 

D. SYS 

Correct Answer: C 
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